GRAPH TrANSFoR MATIons |

The diagram shows a sketch of the graph of y = 7). The graph passes through the poIws
(~5,0)and (7, 0) and has 2 minirom point at (L -3
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interssction of the graph with the x-axis.
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Sketch on separate Jiagrams the graphs of
{a} Fy=f{a)+4, =
) y=fz+2), g

indicating the coordinates of the points of Interseeti ¥ 8% i i '
s poli. Dno tnterseetion with the x-axis and the coordinates of the
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@ The diagram shows a skeich of the graph of ¥ =F{x). The graph passes through the points (-6, 0)
and (2, 03, and has a minimmm point af (-2, -4
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Sketch the followine sraphs, nsing a separale st of axes for each graph. In sach case, you should
imcicate the coordinates of the siafionary point znd the coordinames of the points of mtersocion of

the graph with the x-axis.
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